[4] Ch-2644

Bl Roll No.
(Or)
sr-vad oy | swe! W W gaeR guee ' :
# 75wl ORT @ SRV WO B W SO gEa
&9 & fY @ Siud sqeT S | 10 _ CD""'2644

Write Biot-Savart’s law. Use it to obtain the expression
for the magnetic field produced at the centre of a current
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Derive er‘;luafion.for E and B for electrolmagnetic wave FeT afvard &1 ol vl ﬁi 3 | £ |
propsguting inl dicleothic meciym ang find its speed. i - Attempt all the five questions. Ore question from each
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Write Stokes’ theorem and prove it. -
What is Poynting Vector ? Explain. Prove that the ener;
ynting P gy @) fig o fF £

-is conserved in electromagnetic wave propagation. .
' curl (pA) = pourl A+ (grad ) x A
«  Provethat: | :
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CD-2644 e g 1,700 curl (hA) = pourl A+ (grad ) x A
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What do you mean by gradient of a scalar field ?
Derive formula for it.
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Evaluate the following integral : 2
j f fm(x+y +z)dedy dz
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Prove that :
B grad Vi
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State and prove Gauss theorem. -
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With the help of Gauss’ theorem derive an expression for

- the intensity of electric field at a point outside, on the

surface and inside the uniformly charged solid sphere.
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Explain electric polarisation P and electric displacement

-
D in dielectric field and prove that :

- - =

' D=€'0E+P
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Derive a formula for average power in complete cycle of
A. C. circuit. Explain wattless current. !
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Prove that :

=¥ - =
B = po(H +M)

where the symbol have their usual meaning,
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